K - KOHKYE

M -
MATEMATUKOB



«KOHKypC
IPYLINTOB»



OTBETbl SAAAHUA Ne 1
1*2 =2

3-2+1=2
(1+2+3+4) : 5=2

|1+23+4+5i = 33
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ceMepka

/




o
9 Y MapuHbl ObInoO
Lenoe s10y10Ko, ABe
NMOJZIOBUHKU U
yeTblpe



Va4

K ogHO3HaYHOMYZ >
yucny npunucannm
TaKyH0 XXe unugpy.
Bo cKkonbko pas3



YTo OonbLue
npou3sBeneHue
BCeX UUMdp Unm ux




CymMa Tpéx 4ynce
paBHa uX
Npoun3BeaeHuIo.
ITU Yncna



-

Kakoe yucno
Ha BCe 4Yucna
nenutcsa oes

S X

| =S



Ha rpsaake cungeno
7 BopobbeB. K HUM
nogKparcs KoT v
cXBaTun oAHOroO.



KynneHo 15 kr A0nok .
Ha npurotoBneHue
BapeHbS
napacxonosanu 2/3
KynJieHHbIX S0SOK.




PUMCKHUE LNOPDI
| =1

V-5

X =10
L — 50
C -100



3AMULLWUTE PUMCKUMU LUOPAMM
3 -
12 -
28 -
39 —



NNPABUAbHbIE OTBETbI
3 -l

12 - XII

28 - XXVIII



101 - ClI
/700 - DCC



NMPOYTHU NMOIOBOPKY

NWOHO A3
XEBC, BEC
SA0IrogHo




[MPOYTU TMOITOBOPKY

MADbIL b=
HOTA EH
IblbEAB




